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Q1. a¥2013 31R2014 H, 3 TRHUASITHHL:12 IW@E.31R14.5 M@E. AT AG¥2013
31R2014 AR TARIH AT (AETIIH) fohceiigrair?

(a) 35 @@

(b) 37.65 &r@

(c) 40 om@

(d) 37.95¢m@

OELKEIEGH]
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Q2. 2016  FHRIANAINIRAUAARTT  PREAUCHAN:3: 4 AT[A12016

' RIS TITdFIATAT?
(@2:3 >

(b) 23:37



(c)43:56

(d) 29:46
(e)39:56

L1Difficulty 3

QTagsLine Graph DI
QCreatorDeepak Rohilla

Q3. TsliasieR A et RT3 (Xiomi)hTh eI T 82.5
TG | AN e [ eTeht g dehatichlsh ol AT fehcTaiT 2T

(a) 38 emr@

(b) 40 om@

(c) 45 om@

(d) ifka =1gr foram 1 Fehar
(e) 573 & IS el
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Q4. g7e2017
FMINAN(Xiaomi) HRHTAI(Honor)hoeTenRE<aRTe T | HRElA R dihisa3as.7
TGS AT (12017 HelATehd gl fehdeITT?

(a) 4 or@

(b) 5 or@

(c) 6 dm@

(d) 8 emr@

(e) 10 em@
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Qs. q7e2014 312015 AT HTAHAT: 2: 3
. Gt .

?ZWZ’: It A |ISeTe A TS H S Heh T Tehed AT 3T ITTFATAT?

(b)4:5

(c) 29:45

(d)39:55
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Directions (6-10): e faaarReiza R aeageid,

NS W S G ] TR
ate: T = et 3137, M : F = geu3iR afgern it &1 egard



2015 2016 2017 2018
T M:F |T M:F|T M:F |T M:F

Up 1260 |9:5 1540 | 5:6 |1400|3:5 |1110|8:7

Guijrat 1108 |3:1 1320 | 7:5 |1120|9:7 |970 |2:3

Panjab 1080 |7:11 |1250|2:3 |1660|11:9|1060 |2:3

Kerala 948 7:5 1010 | 1:1 |1370[3:2 |1100|6:5

Maharashtra | 1200 B:7 1430 | 6:7 | 1510 | 7:3 |930 |7:8

Q6. 2016 , FeATRATSFHIGaRIA oes%

1
. . 83204

TEISFACAR, g A RISe A 3N Teeh [T U3 fohamaT, i faduieTaa e ga ¥ dfharrar
AT I3 JRNIHRATGASFHICTR eI TR AT, (1o 1ot Tl T TR & T3 T0TehTg |

(a) 18

(b) 12

(c) 10

(d) 20

(e) 15
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Q7. 2017
AFRICI A3 IEeh [l U3 TG {eTaTel H g oIS FHIG AR eh T AT TG e eh Ueh g el aial
SIS [ITAN TSI H A3 FHIGAR [T H &,

SIS TH PRI SFHICAR P THEIH AT TS | ST T RIS AN IGh (oI U TGt ehetar
AR ESFHIGaRIAIaEITH fhde HIIATRIT?

(b) 166

(c) 156

(d) 257

(e) 167
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Q8. gefasiefaemEes,

T ma|<-?|<:‘o1eh<oid|&gb%a-a-i“lc‘du‘iq?l.mﬂamm?-ﬂ%‘ < ?

a

(b) 700

(c) 620

(d) 731

(e) 625
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Q9. 2016 AT 3 R RIS I R TH AT UT 3G oh [l U3 TTA gl aTe 3132018
HAERISEUS TR THATR RIRRIEAN IR CIEC CINEIREICIY

Wzm 3TTACT A AT 3T I

(b) 335: 274

(c) 217: 249

(d)5:4

(€)9:13

L1Difficulty 3

QTagsTable DI

QCreatorDeepak Rohilla

Q10. HAfgAZFHIGART mﬁﬁi%, fSegisi2016  AGUEAM3IGeh feU3mdesTienarar,
TSR3 Teeh [T U3 AT h A dT Y SFHIG AR ehT Tehcl e T T T 2T?

72 %
(a)

(b)

@ ?u,_—“l %
1

@ 723%

(e) ST J Ig oTeT
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Directions(11-15):fFeAfai@duE-ar, 2010 3Rz015
Y o‘" ll‘ - ‘I" A HTC ITHIS g .. - T

?ZH%

gl
aﬁzoloﬁmﬁia\-clm 32000



2015 eI RIFIIT = 60000

Q11.992010 #,SBI,UBIRUCOS IR R IFIT GaRITAT e IRIvT3Ra¥ 2015 HPNB, OBC
HRBOM HIRFAA CaRITARII U Teh UTeha I 3R ?

(a)9.6°

(b)8.2°

(c)4.6°

(d)7.2°

(e)5.4°
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Q12. SBI 3iRPNB HIfAATRTEN2015 FIRTFTATREEAE, av2010

PR TR R Rarg &7
65-04
(@) 3

(b)ﬁﬂoz'b

F

62-04
© 2"

66-
@°%"

()3T & IS et
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Q13. a¥2015 &, UCO, UBI 3RBOB HIRTFIARIEEIAREN2010 FPNB, BOl 3iRBOM

?a§g3if4'o" PRI ST AT 2T

(b) 85:84

(c)19:18

(d)61:59

(e)111:91
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Ql4. d¥2015 &, SBI, PNB 3RBOI #ARFadihraedr, a¥2010 HBOB, UCO 3iRBOM

Y C ?
?aqui 2“.5'% E ; RIcTe

(b)130.25%
(c)137.2%

(d)150%
(€)167.25%
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Q15. @¥2010 #H, UCO 3IRBOB SIfAAERRFAUGIHITEAT, 2015 FScaidehiopl Aol

(ia[ﬁz' T T G RT3

(b)17%
(€)24%
(d)28%
()35%
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Solutions

S1. Ans.(d)
Income of Honor =1, in 2013
I —12
12
[ =Rs.16.2L
In 2014, Let Income = I,

[, — 145
. 50 = —— x 100
14.5

I, =21.75L
~ total income=21.75L+ 16.2L =37.95L

* 100

Sol

S2. Ans.(e)
Let the respective expenditures of both Xiomi
and Honor be Rs. 3x and Rs. 4x lakhs.

Ij_ — 3x
Liomin 2016 = 30 = % 100
3x
or,l; = 3.9x
I, —4x
Again, Iyonor In 2016 = 40 = =—— X 100
X
= [, = 5.6x
Desired ratio = Liomi ¢ lyoner = 3.9x : 5.6x
=39:56
Sol.
S3. Ans.(d)
Sol.

It can’t be determined as data given are inadequate.

S4. Ans.(a)
Let expenditure of both Xiomi and Honor

in 2017 be Rs. x lakhs & their respective
incomes be Bs. I, & I, lakhs.

~ Profitd for Xiomi = 40

& Profitd for Honor = 45

~ 40 = IT‘”” X 100 ...(Q)
&45=22x100 .. (ii)
From (i) and (ii})

x =Rs.2L

Sol. ™ Total expenditure = 2 x 2 = Rs. 4 lakh



S5. Ans.(c)
Let the income be Rs. 2x and Rs. 3x lakhs

respectively in 2014 and 2015 for Honor.

~In2014,
2x — El
0=———x 100
1
= 15 E1 = 2x

Sk, = 2% Lakh
1775 4
In 2015,

3x 3
45 = — x 100
E;

= E; = S
* 7145
2x 3x
1 —— = 29 : 45,
1.5 1.45
Sol.
S6. Ans.(c)
Required difference
250 6 200 6
=|—xX — X 1430 - —— x — % 1540
300 13 300 11
= |550 - 560|
=10
Sol.
S7. Ans.(b)
Required difference = —~ X 1660
Sol. = 166
S8. Ans.(c)

Required average

—1>-<(? >c:94-8+1><101{}+3><13?{}+ 6 >-<11{m)
47 12 2 5 11

=620
Sol.

S9. Ans.(b)



2 1
= %1250 + 5 x 1010

Required ratio = 52 g
€ ®* 970 + 1E ® 930
. 1005
822
B 335
Sol.  Z7%
S10. Ans.(b)
Required percentage
2 6
3 X7 % 1540
= 7 * 100
13 % 1320
560
=—2x 100
770
=72 5 Uh
IR
Sol.
S11. Ans.(d)
Required difference
43 11
=—x 360 —— X 360 = 7.2°
Sol. 100 100
S12. Ans.(d)
Vacancies in SBI and PNB together in 2010
= — X 32000 = 5760
WVacancies in SBI and PNB together in 2015
= =2 % 60000 = 9600
100 :
~ Required % = 2500757% X 100 = 66=94
Sol. 5760 3
S13. Ans.(a)
. . (10+16+5) %60
Required Ratio= ———
(B+1245)=32
_313(611 .
T25%32
Sol. =93 : 40

S14. Ans.(c)



12+4+14

=x60000
. — 100
Required % = 331633
T}( 32000

_ 30x60
Sol T 41x32

X 100 = 137.2%

S15. Ans.(d)

Vacancies in UCO and BOB together in 2010
= 222 X 32000 = 11520
Vacancies in UCO and BOB together in 2015

= = % 60,000 = 9000
100

. _ 11520-5000 _
Sol. Required % ~pog < 100 =28%



